COS 528

Problem Set No. 4



Due Wed. 11/5
Fall 2003

1. The largest label version of the preflow push maximum flow algorithm always processes the vertex of largest distance label.

(a) Describe how to implement the largest label rule so that the overhead for choosing vertices to process is 
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per nonsaturating push.

(b) Prove that this version of the algorithm does 
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nonsaturating pushes, and hence runs in 
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time.

2. Consider a strongly connected directed graph in which each edge has unit capacity. Given a set of supplies and demands on the vertices, such that the sum of the supplies and the sum of the demands both equal 1, describe an efficient algorithm (as close to linear-time as possible) to find a flow that satisfies the supplies and demands.
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